

$$(M_1, g) \quad (M_2, h) \quad (f_1, f_2) \quad M_1 \times M_2 \quad (f_1, f_2) \quad M_1 \times M_2 \quad G = f_2^2 g + f_1^2 h$$

1969 Bishop

[1] 2016

[2] 2018

[3] 2022

Levi-Civita Ricci

[4] 5-6

[7] 1982 Michelsohn

[8] 2014

[8] 1 0 [9]

1985 Balas  $\lambda$

[10] Ricci [10]

1987 Kobayashi  $\lambda$  [11]

1

$$(M, J, G) \quad n \quad J \quad G \quad M \quad p$$

$$T_p^C M = T_p^{1,0} M \oplus T_p^{0,1} M$$

$$J \quad \pm\sqrt{-1} \quad z = (z^1, z^2, \dots, z^n) \quad T_p^{1,0} M \quad \left( \frac{\partial}{\partial z^1}, \frac{\partial}{\partial z^2}, \dots, \frac{\partial}{\partial z^n} \right)$$

$$\nabla \quad G \quad J$$

[3]

$$\Gamma_{\gamma\alpha}^{\beta} = G^{\delta\beta} \frac{\partial G_{\alpha\delta}}{\partial z^{\gamma}} \quad 1$$

[12]

$$T(X, Y) = \nabla_X Y - \nabla_Y X - [X, Y]$$

$$T_{\gamma\alpha}^{\beta} = \Gamma_{\gamma\alpha}^{\beta} - \Gamma_{\alpha\gamma}^{\beta} \quad 2$$

1 3

K [11]

$$K(X, Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X, Y]} Z$$

$$K_{\alpha\gamma\delta}^{\beta} = -\frac{\partial \Gamma_{\gamma\alpha}^{\beta}}{\partial \bar{z}^{\delta}} \quad 3$$

1 3

[11]

$$K_{\alpha}^{\beta} = G^{\delta\gamma} K_{\alpha\gamma\delta}^{\beta} \quad 4$$

$$1^{[10]} \quad (M, J, G)$$

$$T_{\gamma\alpha}^{\beta} = 0 \quad 5$$

$$(M, J, G)$$

$$2^{[8]} \quad (M, J, G)$$

$$1 \quad 0$$

$$\tau_{\gamma} = 0 \quad 6$$

$$(M, J, G)$$

$$\tau_{\gamma} = G^{\bar{\eta}\alpha} T_{\gamma\alpha\bar{\eta}} \quad 7$$

$$T_{\gamma\alpha\bar{\eta}} = G_{\beta\bar{\eta}} T_{\gamma\alpha}^{\beta} \quad 8$$

$$3^{[11]} \quad (M, J, G)$$

$$K = \varphi I, \quad i.e., \quad K_{\alpha}^{\beta} = \varphi \delta_{\alpha}^{\beta} \quad 9$$

$$\varphi \quad M$$

$$(M, J, G)$$

$$4^{[13]}$$

$$L = G^{\bar{\beta}\alpha} \frac{\partial^2}{\partial z^{\alpha} \partial \bar{z}^{\beta}} \quad 10$$

$$(M_1, g) \quad (M_2, h)$$

$$m \quad n$$

$$M = M_1 \times M_2 \quad m + n$$

$$\pi_1: M \rightarrow M_1 \quad \pi_2: M \rightarrow M_2$$

$$z = (z_1, z_2) \in M, z_1 = (z^1, \dots, z^m) \in M_1$$

$$z_2 = (z^{m+1}, \dots, z^{m+n}) \in M_2 \quad \pi_1(z) = z_1 \quad \pi_2(z) = (z_2)$$

$$d\pi_1: T^{1,0}(M) \rightarrow T^{1,0}M_1, d\pi_2: T^{1,0}(M) \rightarrow T^{1,0}M_2 \quad \pi_1 \quad \pi_2$$

$$v = (v_1, v_2) \in T_z^{1,0}(M), v_1 = (v^1, \dots, v^m) \in T_{z_1}^{1,0}M_1, v_2 = (v^{m+1}, \dots, v^{m+n}) \in T_{z_2}^{1,0}M_2 \quad d\pi_1(z, v) = (z_1, v_1) \quad d\pi_2(z, v) = (z_2, v_2)$$

$$5^{[3]} \quad (M_1, g) \quad (M_2, h)$$

$$f_1: M_1 \rightarrow (0, +\infty) \quad f_2: M_2 \rightarrow (0, +\infty)$$

$$({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$G: M \rightarrow (0, +\infty)$$

$$M = M_1 \times M_2$$

$$G(z, v) = (f_2 \circ \pi_2)^2(z)g(\pi_1(z), d\pi_1(v)) + (f_1 \circ \pi_1)^2(z)h(\pi_2(z), d\pi_2(v)) \quad 11$$

$$z = (z_1, z_2) \in M, v = (v_1, v_2) \in T_z^{1,0}M \quad f_1 \quad f_2 \quad (M_1, g) \quad (M_2, h) \quad ({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$f_1 \equiv 1 \quad f_2 \equiv 1$$

$$({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$f_1 \equiv 1 \quad f_2 \equiv 1$$

$$({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$f_1 \quad f_2$$

$$({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$1 \leq \alpha, \beta, \gamma, \eta, \delta \leq m+n, 1 \leq i, j, k, l, t \leq m, m+1 \leq i', j', k', l', t' \leq m+n. \quad (M_1, g) \quad (M_2, h)$$

$$1 \quad 2 \quad \Gamma_{jk}^1 \quad \Gamma_{j'k'}^2 \quad (M_1, g) \quad (M_2, h)$$

$$({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$(M_1, g) \quad (M_2, h)$$

$$g_{ij} = \frac{\partial^2 g}{\partial v^i \partial v^j}, \quad h_{i\bar{j}} = \frac{\partial^2 h}{\partial v^i \partial \bar{v}^j} \quad 12$$

G

[3]

$$(G_{\alpha\bar{\beta}}) = \left( \frac{\partial^2 G}{\partial v^\alpha \partial \bar{v}^\beta} \right) = \begin{pmatrix} f_2^2 g_{ij} & 0 \\ 0 & f_1^2 h_{i\bar{j}} \end{pmatrix} \quad 13$$

$$(G^{\bar{\beta}\alpha}) \quad [3]$$

$$(G^{\bar{\beta}\alpha}) = \begin{pmatrix} f_2^{-2} g^{\bar{i}i} & 0 \\ 0 & f_1^{-2} h^{\bar{i}i'} \end{pmatrix} \quad 14$$

2

$$({}_{f_2}M_1 \times_{f_1} M_2, G)$$

$$1^{[3]} \quad ({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$\Gamma_{\gamma\alpha}^\beta$$

$$\Gamma_{jk}^i = \Gamma_{jk}^1, \quad \Gamma_{j'k'}^i = 2f_2^{-1} \frac{\partial f_2}{\partial z^j} \delta_k^i, \quad \Gamma_{j'k'}^{i'} = 2f_1^{-1} \frac{\partial f_1}{\partial z^j} \delta_{k'}^{i'}, \quad \Gamma_{j'k'}^{i''} = \Gamma_{j'k'}^2 \quad 15$$

$$\Gamma_{j'k'}^i = \Gamma_{j'k'}^{i'} = \Gamma_{j'k'}^{i''} = 0 \quad 16$$

$$1 \quad ({}_{f_2}M_1 \times_{f_1} M_2, G)$$

$$T_{\gamma\alpha}^\beta$$

$$T_{jk}^i = T_{jk}^1, \quad T_{j'k'}^i = T_{j'k'}^2 \quad 17$$

$$T_{j'k'}^i = 2f_2^{-1} \frac{\partial f_2}{\partial z^j} \delta_{k'}^i, \quad T_{j'k'}^{i'} = -2f_2^{-1} \frac{\partial f_2}{\partial z^{k'}} \delta_j^{i'} \quad 18$$

$$T_{j'k'}^{i''} = -2f_1^{-1} \frac{\partial f_1}{\partial z^k} \delta_{j'}^{i''}, \quad T_{j'k'}^{i'''} = 2f_1^{-1} \frac{\partial f_1}{\partial z^j} \delta_{k'}^{i'''} \quad 19$$

$$T_{j'k'}^{i''''} = T_{j'k'}^{i''''} = 0 \quad 20$$

$$2 \quad \alpha = k, \beta = i, \gamma = j \quad 15$$

$$T_{jk}^i = \Gamma_{jk}^i - \Gamma_{kj}^i = \Gamma_{jk}^1 - \Gamma_{kj}^1 = T_{jk}^1$$

$$1 \quad ({}_{f_1}M_1 \times_{f_1} M_2, G)$$

$$({}_{f_2}M_1 \times_{f_1} M_2, G)$$

$$(M_1, g)$$

$$(M_2, h)$$

$$f_1 \quad f_2$$

$$1 \quad ({}_{f_2}M_1 \times_{f_1} M_2, G)$$

$$T_{\gamma\alpha}^\beta = 0$$

1

$$\begin{cases} T_{jk}^1 = 0 \\ T_{j'k'}^2 = 0 \\ \frac{\partial f_1}{\partial z^k} = 0 \\ \frac{\partial f_2}{\partial z^{k'}} = 0 \end{cases} \quad 21$$

21		$(M_1, g)$	$(M_2, h)$	21
	$f_1$	$f_2$		
	2	$(_{f_1}M_1 \times_{f_1} M_2, G)$		$T_{\gamma\alpha\bar{\eta}}$
				$T_{jk\bar{l}} = f_2^2 T_{jk\bar{l}}^1, T_{j'k'\bar{l}'} = f_1^2 T_{j'k'\bar{l}'}^2$ 22
				$T_{jk\bar{l}'} = -2f_2 \frac{\partial f_2}{\partial z^{k'}} g_{j\bar{l}'}, T_{j'k'\bar{l}} = 2f_1 \frac{\partial f_1}{\partial z^j} h_{k\bar{l}}$ 23
				$T_{j'k\bar{l}} = 2f_2 \frac{\partial f_2}{\partial z^{j'}} g_{k\bar{l}}, T_{j'k\bar{l}'} = -2f_1 \frac{\partial f_1}{\partial z^k} h_{j\bar{l}'}$ 24
				$T_{j'k\bar{l}} = T_{j'k\bar{l}'} = 0$ 25
	8	$\alpha = k, \gamma = j, \eta = l$		
				$T_{jk\bar{l}} = G_{\beta\bar{i}} T_{jk}^\beta = G_{i\bar{l}} T_{jk}^i + G_{i\bar{l}'} T_{jk}^{i'}$ 26
17		13	26	
				$T_{jk\bar{l}} = f_2^2 g_{i\bar{l}} T_{jk}^i = f_2^2 T_{jk\bar{l}}^1$
	3	$(_{f_1}M_1 \times_{f_1} M_2, G)$		$\tau_\gamma$
				$\tau_j = \tau_j^1 + 2f_1^{-1} \frac{\partial f_1}{\partial z^j}$ 27
				$\tau_{j'} = \tau_{j'}^2 + 2f_2^{-1} \frac{\partial f_2}{\partial z^{j'}}$ 28
	7	$\gamma = j$		
				$\tau_j = G^{\bar{\eta}\alpha} T_{j\alpha\bar{\eta}} = G^{\bar{l}k} T_{jk\bar{l}} + G^{\bar{l}'k'} T_{j'k'\bar{l}'} + G^{\bar{l}k} T_{jk\bar{l}'} + G^{\bar{l}'k'} T_{j'k'\bar{l}}$ 29
14	2	29		
				$\tau_j = f_2^{-2} g^{\bar{l}k} f_2^2 T_{jk\bar{l}}^1 + f_1^{-2} h^{\bar{l}'k'} 2f_1 \frac{\partial f_1}{\partial z^j} h_{k\bar{l}'}$
				$= g^{\bar{l}k} T_{jk\bar{l}}^1 + 2f_1^{-1} \frac{\partial f_1}{\partial z^j}$
				$= \tau_j^1 + 2f_1^{-1} \frac{\partial f_1}{\partial z^j}$
	28			
	2	$(_{f_1}M_1 \times_{f_1} M_2, G)$		$(_{f_2}M_1 \times_{f_2} M_2, G)$
				$\begin{cases} \tau_j^1 + 2f_1^{-1} \frac{\partial f_1}{\partial z^j} = 0 \\ \tau_{j'}^2 + 2f_2^{-1} \frac{\partial f_2}{\partial z^{j'}} = 0 \end{cases}$ 30
		$2 (_{f_1}M_1 \times_{f_1} M_2, G)$		$\tau_\gamma = 0$
				$\begin{cases} \tau_j = 0 \\ \tau_{j'} = 0 \end{cases}$ 31
27	28	31	30	
	1	$(_{f_1}M_1 \times_{f_1} M_2, G)$		$f_1$
		$(M_1, g)$	$(M_2, h)$	$f_2$
				$(_{f_2}M_1 \times_{f_2} M_2, G)$

---

$2^{31}$  (

- 1 BISHOP R O'NEILL B. Manifolds of Negative Curvature J . Transactions of the American Mathematical Society 1969 14 05 1-49.
- 2 HE Y ZHONG C P. On Doubly Warped Product of Complex Finsler Manifolds J . Acta Mathematica Scientia 2016 36 06 1747-1766.
- 3 . Hermitian J . 2018 61 05 835-842.
- 4 NI Q H HE Y YANG J H et al. Levi-civita Ricci-flat Doubly Warped Product Hermitian Manifolds J . Advances in Mathematical Physics 2022 509 02 125981.
- 5 CHANG S KUO T LAI S. Li-Yau Gradient Estimate and Entropy Formulae for the CR Heat Equation in a Closed Pseudohermitian 3-manifold J . Journal of differential geometry 2011 89 02 185-216.
- 6 KOLODZIEJ S NGUYEN N. Weak Solutions to Monge-ampère Type Equations on Compact Hermitian Manifold with Boundary J . ArXiv 2208.13129 2022.
- 7 . M . 2002.
- 8 MICHELSON M. On the Existence of Special Metrics in Complex Geometry J . Acta Mathematica 1982 143 261-295.
- 9 LIU K F YANG X K. Geometry of Hermitian Manifolds J . International Journal of Mathematics 2012 23 06 1250055.
- 10 BALAS A. Compact Hermitian Manifolds of Constant Holomorphic Sectional Curvature J . Mathematische Zeitschrift 1985 189 02 193-210.
- 11 KOBAYASHI S. Differential Geometry of Complex Vector Bundles M . Princeton Princeton University Press 2014.
- 12 YANG J M. Locally Conformal Kähler and Hermitian Yang-mills Metrics J . Chinese Annals of Mathematics Series B 2021 42 04 511-518.
- 13 RUDIN W. Function Theory in the Unit Ball of  $\mathbb{C}^n$  M . Berlin Springer Science and Business Media 2008.
- 14 ALESSANDRINI L. A Characterization of Balanced Manifolds J . Comptes Rendus Mathematique 2014 352 04 345-350.
- 15 CHIOSE I RĂSDEACONU R SUVAINA I. Balanced Manifolds and SKT Metrics J . ArXiv.1608.08721 2016.
- 16 GANCHEV G IVANOV S. Harmonic and Holomorphic 1-forms on Compact Balanced Hermitian Manifolds J . Differential Geometry and Its Applications 2001 14 01 79-93.
- 17 . Einstein-Finsler J .